भारतीय राष्ट्रीय राजमार्ग प्राधिकरण

(सडक परिवहन और राजमार्ग मंत्रालय, भारत सरकार)

National Highways Authority of India

(Ministry of Road Transport and Highways, Government of India) परियोजना कार्यान्वयन इकाई:कृष्णागिरी

Project Implementation Unit : Krishnagiri

#२५९/१ सेलम मार्ग, के ए केसी पेट्रोल बंक के पास,कृष्णागिरी,तमिलनाइ -६३५००१ # 259/1, Salem Main Road, Near KAKC Petrol Bunk, Krishnagiri (Tamil Nadu) - 635 001.

दूरभाष/ Tel: 04343 234250, ईमेल / Email : nhaikrishnagiri@gmail.com, kri@nhai.org वेबसाइट : www.nhal.gov.in



No. NHAI/11013/Gas Pipeline/2023/PIU-K'giri/ 389

20th February 2023

To.

Chief General Manager(Construction), M/s. Gail (India) Ltd., Chennai Zonal Office. 3rd Floor, CTS Building, No.16, Greams Road, Chennai - 600 006. Phone No.044-28292176 to 79.

NHAI, PIU-Krishnagiri - Permission for laying Proposed 24" dia Steel Gas Pipeline along with 40mm dia OFC duct along the road from km.60/100 to km.94/460 (RHS) on Jittandahalli to Dharmapuri section of NH-844 (Package -3) by M/s. Gail (India) Ltd., - Intimation of Payment of requisite Fee - Reg.

Ref:

- 1. M/s. Gail (India) Ltd Lr.no.GAIL/KKBMPL-II/NHAI-Krishnagiri(Package-III)/ 2022 /07 dated 26.09.2022.
- M/s. Gail (India) Ltd Lr.no.GAIL/PROJ/KKBMPLTN/PD/PIU/NH844/03 dated 30.11.2022.
- 3. RO, Chennai Lr.no.NHAI/11019/16/RO Chennai/E-187730/422 dated 18.02.2023.

Sir.

With reference to the letter 1st & 2nd cited above, it is to inform that as per direction of Regional Office, Chennai vide reference 3rd cited, In this regard, it is requested to submit the License Fee and Restoration Charges as under:

a) M/s. Gail (India) Ltd shall furnish Performance Bank Guarantee towards restoration charges for Rs.86,41,000/- with a validity period of one year. The Bank Guarantee in the form of Electronic Bank Guarantee (e-BG) shall be obtained from any nationalized bank only. The account details as follows:

Beneficiary Name	Regional Officer, National Highways
	Authority of India, Chennai,
Bank Name	Canara Bank
Current Account No	60341010004225
IFSC Code No.	CNRB0002649
Branch	Chennai, Thiruvanmiyur

पिरिट कार्यालय: जी-5 और 6, सेक्टर -10, द्वारका, नई दिल्ली - 110 075 फोन: 011 - 25074100 वेबसाइट: www.nhai.gov.in rp. Office: G-5 & 6, Sector - 10, Dwarka, New Delhi - 110 075. Ph: 011 - 25074100 website: www.nhai.gov.in a) M/s. Gail (India) Ltd shall remit an amount of Rs.1,09,00,315/- towards track rent charges / License fee as per Ministry's guidelines dated 22.11.2016 through Bharatkosh portal and requested to submit proof of deposit to this office.

It is requested to submit the proof of same to this office at the earliest for taking further necessary action.

Yours faithfully,

(Amit Sheoran)

Dy. Manager(Tech)



पञ्चाय राजमाग प्राधिकरण ड़क परिवहन और राजमार्ग मंत्रालय) National Highways Authority of India (Ministry of Road Transport & Highways, Government of India) क्षेत्रीय कार्यालय, चेन्नाई / Regional Office, C

"श्री टवर 3^ल मजिल, DP.34 (SP) इंबस्ट्रियल एस्टेट,गिण्डी, चन्नई - 600 032. SRI TOWER, 3rd Floor, DP-34 (SP), Industrial Estate, Guindy, Chennai-600 032. दूरभाष / Tele : 91-44 - 2225 2635 मेब/website: www.nhat.gov.in ई.मेटा/E - mail : rochennat@nhat.org



NHAI/11019/16/RO Chennai/E-187730/422

18th February, 2023

The Project Director, Project Implementation Unit, National highways authority of India, Krishnagiri.

Sub: NHAI - RO Chennai - PIU Krishnagiri - Permission for laying of Proposed 24" dia Steel Gas Pipeline along with 40mm dia OFC duct along the road from km.60/100 to km.94/460 (RHS) on Jittandahalli to Dharmapuri section of NH-844 (Package -3) by M/s. Gail (India) Ltd - Approval - Reg.

PD, PIU, Krishnagiri Letter No. NHAI/11013/Gas&OFC/2022/PIU-K'giri/122. dated 23.01.2023. Sir,

This has the reference to the proposal received from PD, PIU, Krishnagiri vide ref cited above thereby seeking permission to M/s. Gail (India) Ltd for laying of Proposed 24" dia Steel Gas Pipeline along with 40mm dia OFC duet along the road from km.60/100 to km.94/460 (RHS) on Jittandahalli to Dharmapuri section of NH-844 (Package -3).

In this regard, PD, PIU, Krishnagiri is requested to intimate the applicant M/s. Gail (India) Ltd to furnish the Bank Guarantee for an amount of Rs. 86,41,000/- as a performance security against the restoration work and track rent charges/License fee for an amount of Rs. 1,09,00,315/- for the subject work for further processing.

Copy to: -M/s. Gail (India) Ltd

(S. P. Som Regional Officer, Chennai.

क़ॉर्पोरेट कार्यालयः जी-5 एवं -6, रोक्टर-10 द्वारका, नई दिल्ली - 110075 वेबसाइट : http://www.nhai.gov.in Corporate Office : G-5 & 6, Sector - 10, Dwarka, New Delhi - 110 075 Website : http://www.phgi.gov.in

National Highways Authority of India

Annexure-I

Performance security against the restoration work for laying of Underground Gas Pipeline and OFC.

Cost of Restoration (34564m*Rs,250/-)	Charges	@250/-	per	Running	under	85,90,000
				Total	in Rs.	86,41,000

Track rent charges/License Fee. 2.

Description	Chainag e from Km	Chaina; e To Km	Lengt h in m	Transver e Length m				Guidelin e Value (Rs.) per Sqm	License Fees
10	2	3	, 4	5	6	7	8	-9	10
	•			- 1 - 1 - 1 - 1 - 1 - 1 - 1 - 1 - 1 - 1		, 4		1 Ay	•
Jakkasamudram	60	64	3,700	10	3,710	1.00	3,710	725	26,89,750.00
Velakahalli	64	67	3,150	60	3,210	1.00	3,210	725	23,27,250.00
P.Settihalli	67	69	2,150	0	2,150	1.00	2,150	795	17,09,250.00
Jertalv	69	71	2,300	0	2,300	1.00	2,300	7,215	1,65,94,500.0
Erranahalli	71	75	3,600	12'	3,612	1.00	3,612	2,165	78,19,980.00
Karagathahalli	75	79	4,250	.64	4,314	1,00	4,314	2,385	1,02,88,890.0 0
P.Gollahalli	79	82	3,050	0	3,050	1.00	3,050	510	15,55,500.00
Pulikkari	82	85	2,300	10	2,310	1.00	2,310	2,490	57,51,900.00
Selļiyampatti	85	88	3,250	0	3,250	1.00	3,250	795	25,83,750.00
Kadagathur	88	90	1,650	10	1,660	1.00	1,660	2,265	37,59,900.00
Pappinayakanah alli	90	93	3,150	15	3,165	1.00	3,165	1,445	45,73,425.00
A. Reddiahalli	93	94	1,450	5	1,455	1.00	1,455	2,530	36,81,150.00
Virupakshipuram	94	94	360	18.	378	1.00	378	7,215	27,27,270.00
Total -A 34,36 204 34,56								6,60,62,515.	
License Fees (Rs/sqm/ month) = (Utilized NH land area X prevailing Circle rate of land per Unit area)/10X12) The License fees for public utilities shall be 33% of total amount utilized for industrial utilities Rs= (550520 96x33%)									5,50,520.96
, 120020.500070									1,81,671.92
License fee for 5 Years (Total Amount X 60 months) = (Rs.181671.92x 60)									1,09,00,314. 98